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import sys
sys.path.append("statlib")
from exact import Fisher

Fisher(a, b, c, d, verbose=True)
v XH

import sys
sys.path.append("statlib™)
from exact import OddsRatio
OddsRatio(a, b, c, d)
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a, b, c, d MWHrERHOZAHDE
verbose True 7% 5 IERER/NNRBO 7Y v v 1% T2 (57 4V b id True)



1.2 RDEDORH
"alternative" M E - R e o

"pPearson" 7Yy OHEICLS pfE
"pFisher" 74y —DHEICLD pfl
"pOddsRatio" F v XIS p i
"chisq" sk oBRICBIT S ¥l
"oddsratio" BmanoERCB T4 v X
"probability" B X N Bl O B
"tbl" ATRE e o HIR DM B
"method" BETFES
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import sys
sys.path.append("statlib™)
from exact import Fisher

a = Fisher (10, 13, 16, 61)

Fisher's Exact Test for Count Data

data: matrix(c(23, 13, 16, 61), 2)

alternative is 'two_sided'

p(Pearson) = 0.03529, p(Fisher) = 0.05509, p(0dds Ratio) = 0.05509

E7Y Y DOHEIC L B p il 0.03529413313496793
74y ¥ —DHEIC kS pfl: 0.055089906063589475
vy RS p il 0.055089906063589475
DI, WigaoERzNZCB T3, (2 H, 4 v X, SEEROELTH 2, mk DI * BERRIN
TWVLLDPBHEINDHETH S,

print(a["tbl"])

a mk chisq oddsratio prob
0 0 16.4949160 24.184466 3.317552e-04
1 1 7.278386 10.576923 3.815185e-03
2 2 4.648818 4.754717 1.979577e-02
3 3 2.606207 2.839506 6.158685e-02
4 4 1.150553 1.900000 1.287725e-01
5 5 0.281857 1.350000 1.922390e-01
6 6 0.000117 1.005882 2.124746e-01
7 7 0.305335 1.335526 1.779344e-01
8 8 1.197510 1.748148 1.146018e-01



9 9 2.676642 2.268908 5.730091e-02
10 10 * 4.742731 2.932692 2.235675e-02
11 11 7.395777 3.788889 6.818481e-03
12 12 16.6357860 4.909091 1.623448e-03
13 13 14.462741 6.400000 3.004940e-04
14 14 18.876658 8.425926 4.292771e-05
15 15 23.877533 11.250000 4.683023e-06
16 16 29.465364 15.314286 3.844272e-07
17 17 35.640153 21.407407 2.327847e-08
18 18 42.401899 31.050000 1.012107e-09
19 19 49.750602 47.500000 3.043931e-11
20 20 57.686262 78.888889 6.002118e-13
21 21 66.208879  151.200000 7.145379e-15
22 22 75.318454 401.500000 4.449177e-17
23 23 85.014985 1000.428571 1.045635e-19
a = Fisher (10, 13, 16, 61, alternative="two_sided")

Fisher's Exact Test for Count Data
data: matrix(c(23, 16, 61), 2)
alternative is

p(Pearson) = 0.03529,

13,
'two_sided'
p(Fisher) = 0.05509,

p(0dds Ratio)

0.05509

a =

Fisher (10,

13,

16,

61, alternative="1less")

Fisher's Exact Test for Count Data
data: matrix(c(23, 16, 61), 2)
alternative is

p(Pearson) = 0.99121,

13,

'less'

p(Fisher) = 0.99121,

p(0dds Ratio)

0.99121

a =

Fisher (10,

13,

16,

61, alternative="greater")

Fisher's Exact Test for Count Data

data: matrix(c(23, 16, 61), 2)

13,

alternative is 'greater'

p(Pearson) = 0.03115,

p(Fisher) = 0.03115,

p(0dds Ratio)

0.03115

scipy.stats.fisher_exact 2R3 DI, & v XlkL Fisher DEHICL S piTH 5,

201,

[13,

from scipy.stats import fisher_exact

fisher_exact ([[43, 1911

(3.1423076923076922, 0.014774409770060257)

a =

Fisher (43,

20,

13,

19)




Fisher's Exact Test for Count Data

data: matrix(c(56, 20, 13, 19), 2)

alternative is 'two_sided'

p(Pearson) = 0.01477, p(Fisher) = 0.01477, p(0dds Ratio) = 0.01477

import sys
sys.path.append("statlib™")
from exact import OddsRatio

print(a["oddsratio"])

3.1423076923076922

print (OddsRatio (43, 20, 13, 19)) # 3.1423076923076922

3.1423076923076922
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a =10; b = 13; ¢ = 16; d = 61
ans = Fisher(a, b, c, d, alternative="two_sided")
print (fisher_exact([[a, b], [c, d]], alternative="two-sided")[1])

Fisher's Exact Test for Count Data

data: matrix(c(23, 13, 16, 61), 2)

alternative is 'two_sided'’

p(Pearson) = 0.03529, p(Fisher) = 0.05509, p(0dds Ratio) = 0.05509
0.05508990606358398

ans = Fisher(a, b, c, d, alternative="1less")
print (fisher_exact([[a, b], [c, d]], alternative="less")[1])

Fisher's Exact Test for Count Data

data: matrix(c(23, 13, 16, 61), 2)

alternative is 'less'

p(Pearson) = 0.99121, p(Fisher) = 0.99121, p(0dds Ratio) = 0.99121
0.9912095576899763

ans = Fisher(a, b, ¢, d, alternative="greater")
print(fisher_exact([[a, b], [c, d]], alternative="greater")[1])

Fisher's Exact Test for Count Data

data: matrix(c(23, 13, 16, 61), 2)

alternative is 'greater'

p(Pearson) = 0.03115, p(Fisher) = 0.03115, p(0dds Ratio) = 0.03115
0.031147192560984603



FisherExact.fisher_exact()* 132 x2 X W KELDHEELDLEITIZT T —I1Th 3, 2x2 DHEERDY
H21E, ARSI 3 i 538 B (F7 4L b alternative="tow-sided"),

from FisherExact import fisher_exact as fisher
fisher([[a, b]l, [c, d]1D)

0.05508990606358398

fisher([[a, b], [c, d]], alternative="less")

0.9912095576899763

fisher([[a, b], [c, d]], alternative="greater")

0.031147192560984603

*! pip install FisherExact TA YA F—L§ 3,




